LONMBARDINw: CHD-SUPERCHD Turbo

A KOHLER. COMPEYigine: LDW 2004/T Drawing: M

STARTING
POS. |CODE DESCRIPTION Qty
1 2100.074 preheating glow plug 24 V 4
1 2100.089 preheating glow plug 12 V 4
2 2185.548 glow plug wire 3
3 1780.027 bolt M 10 X 1,5 X 60 1
4 7625.130 washer diam. 10,2 1
5 6491.013 pipe elbow 1
6 1780.027 bolt M 10 X 1,5 X 60 1
7 7625.125 washer diam.10,5 1
8 6995.037 alternator pulley (Marelli type) 1
9 1157.270 EXTERNAL VOLT. ALTERNATOR 12V-65 A 1
9 1157.360 EXTERNAL VOLT. ALTERNATOR 12V-45 A Iskra 1
10 8725.052 alternator support 1
10a 8725.072 alternator support for lowered heat.cab w.pm (Pos. G 30c) 1
11 730.100 screw M 8 X 25 2
12 730.031 screw M 8 X 40 1
13 5840.191 starting motor 2,0 KW 1
13 5840.235 starting motor 3 KW 24 V 1
14 6745.050 0il switch 0,3 bar (M 12) 1
14 6745.056 0il switch 1,4 bar (white mark) 1
15 4670.014 copper gasket diam.12 1
16 730.045 screw M 10 X 30 4
16 9732.037 screw M 10 X 40 2
18 3240.004 nut M 5 4
19 2280.045 tab 1
20 7626.066 washer 4
21 2145.014 regulator cap 1
22 2193.106 contr boX 24V 1
22 2193.134 contr boX 12V 1
23 5830.161 connection boX 1
25 718.205 alternator fan (Marelli type) 1
41 2186.143 wire with diode 12V 1
80 3240.008 nut M 6 1
81 3617.088 clamp dia. 9,5 1
93 B3810.099 flange for starting motor 3 KW 24 V 1

printed by LOMBARDINI:

11/08/2010 -

1




Engine: LDW 2004/T Drawing: M

73

printed by LOMBARDINI: 11/08/2010



